


P * Q का अर्थ है कक P न तो Q से बडा है और न ही कम है
P ^ Q का अर्थ है कक P, Q से छोटा या उसके बराबर है
P % Q का अर्थ है कक P, Q से बडा या उसके बराबर है
P$Q का अर्थ है कक P, Q से छोटा है
P # Q का अर्थ है कक P, Q से बडा है

दिए गए अभिव्यक्तत को इस तरह से पूरा करने के भिए ननम्नभिखित में से कौन से प्रतीकों को
क्रमशः बाएं से िाएं ररतत स्र्ान पर रिा जाना चादहए ताकक Q > W ननक्चचत रूप से सत्य हो?
Q _ C _ V _ U _ W

A. %, $, *, #
B. *, %, #, ^
C. %, *, %, #
D. #, $, ^, $
E. None of these



P * Q means P is neither greater than nor less than Q
P ^ Q means P is less than or equal to Q
P % Q means P is greater than or equal to Q
P $ Q means P is less than Q
P # Q means P is greater than Q

Which of the following symbols should be placed in the blank respectively from left to right in 
order to complete the given expression in such a manner that Q > W definitely holds true ?
Q _ C _ V _ U _ W

A. %, $, *, #
B. *, %, #, ^
C. %, *, %, #
D. #, $, ^, $
E. None of these



ननष्कर्थ S, T और U का भमिान करें जो सामान्यतः ज्ञात तथ्यों की उपेक्षा करते हुए ताककथ क रूप
से कर्न P, Q और R का अनुसरण करेगा।
एक कर्न को अनुसरणीय माना जाता है यदि कर्न S, T और U के सामने दिए गए िोनों
ननष्कर्थ कर्न P, Q और R के अनुसार सत्य हैं।
कॉिम 1:
P. सिी E, A हैं। कुछ P और A हैं। कोई O, P नहीं है।
Q. कुछ O, E हैं। कोई P, O नहीं है। कोई A, P नहीं है।
R. कुछ P, E हैं। कोई E, O नहीं है। कुछ E, A है।
कॉिम 2 :
S. कुछ E, O हो सकते हैं। कुछ A, E हैं।
T. कुछ A, P हैं। कोई O, E नहीं है
U. कुछ O कैम A हैं। कुछ E, A हैं।

A. PU, QT and PS
B. PS, RU and PU
C. RU, PT and PS
D. QU, QS and RS
E. RU, QU and PS



Match the conclusions S, T and U which will logically follow the statement P, Q and R 
disregarding the commonly known facts.
A statement is said to be followed if both the conclusions given against the statement S, T and U 
are true according to the statements P, Q and R.
Column 1:
P. All E are A. Some P and A. No O is P.
Q. Some O are E. No P is O. No A is P.
R. Some P are E. No E is O. Some E is A.
Column 2:
S. Some E can be O. Some A are E.
T. Some A are P. No O is E
U. Some O cam be A. Some E is A.

A. PU, QT and PS
B. PS, RU and PU
C. RU, PT and PS
D. QU, QS and RS
E. RU, QU and PS



Match the conclusions S, T and U which will logically follow the statement P, Q and R disregarding the 
commonly known facts.
A statement is said to be followed if both the conclusions given against the statement S, T and U are true 
according to the statements P, Q and R.
Column 1:
P. All E are A. Some P and A. No O is P.
Q. Some O are E. No P is O. No A is P.
R. Some P are E. No E is O. Some E is A.
Column 2:
S. Some E can be O. Some A are E.
T. Some A are P. No O is E
U. Some O cam be A. Some E is A.

A. PU, QT and PS
B. PS, RU and PU
C. RU, PT and PS
D. QU, QS and RS
E. RU, QU and PS



ननष्कर्थ:
सिी रीबॉक स्पाइकर हो सकते हैं
सिी रीबॉक किी िी कििा नहीं हो सकते
कुछ रीडबॉक बबबा नहीं हैं

कर्न:
A. कुछ कििा रीबॉक हैं। कुछ कििा स्पाइकर हैं। सिी प्यूमा स्पाइकर हैं।  कोई प्यूमा बबबा नहीं 
है। 
B. सिी कििा रीबॉक हैं। सिी रीबॉक बबबा हैं।  कुछ स्पाइकर रीबॉक हैं। सिी स्पाइकर प्यूमा 
हैं।
C. केवि कुछ स्पाइकर रीबॉक हैं। केवि रीबॉक प्यूमा है। कुछ कििा रीबॉक हैं। कुछ कििा बबबा 
हैं।
D. सिी बबबा कििा हैं। कुछ स्पाइकर कििा हैं। कोई स्पाइकर प्यूमा नहीं है।  सिी प्यूमा रीबोक  
हैं। 
E. एक से अधिक सही है



Conclusions:
All reebok can be spykar
All reebok can never be fila
Some reedbok are not biba

Statements:
A. Some fila are reebok. Some fila are spykar. All puma are spykar. No puma is biba.
B. All fila are reebok. All reebok are biba. Some spykar are reebok. All spykar are puma.
C. Only a few spykar are reebok. Only reebok are puma. Some fila are reebok. Some fila are biba.
D. All biba are fila. Some spykar are fila. No spykar is puma. All puma is reebok.
E. More than one is correct



एक अस्पताि ने अपनी सात गिथवती मदहिाओं यानी Y, N, Q, R, S, D और G को छोडने के भिए तीन एम्बुिेंस सेवाओं
यानी S1, S2 और S3 को ननयोक्जत ककया। एम्बुिेंस उन्हें अस्पताि से उठाती है और उनके संबंधित घर पर छोड िेती है।
एम्बुिेंस तीन जोन यानी Z1, Z2 और Z3 में संचाभित होती है। Z1 अस्पताि के पूवथ और उत्तर पूवथ को कवर करता है, Z2 
अस्पताि के पक्चचम और उत्तर पक्चचम को कवर करता है और Z3 अस्पताि के िक्षक्षण और िक्षक्षण पक्चचम को कवर
करता है। प्रत्येक एम्बुिेंस केवि एक जोन में ही उतरती है। प्रत्येक जोन में कम से कम िो और अधिकतम तीन
गिथवती मदहिाएं है । पपकअप और ड्रॉप ऑि का समय इस प्रकार है - सुबह 6:20, 7:15, 7:30, 8, 8:03, 8:10,
8:15, 8:30 और 9। कुछ शतें हैं क्जनका पािन एम्बुिेंस सेवा प्रिाता द्वारा पपकअप और ड्रॉप ऑि के संबंि में ककया
जाता है।
शतें :
सिी मदहिाएं, जो एक ही क्षेत्र में रहती हैं, को उनकी संबंधित एम्बुिेंस द्वारा एक ही समय में उठाया जाता है और
अस्पताि से उनकी िरूी के आिार पर छोड दिया जाता है, जैसे कक जो अस्पताि के सबसे करीब है, उसे पहिे छोडा
जाता है और किर अन्य।
ककसी िी िो मदहिाये को, चाहे उनका ड्रॉप ऑफ़ पॉइंट कुछ िी हो, एक ही समय में नहीं छोडा जाता है।
जो मदहिा अस्पताि से पहिे ननकिती है, वह सुबह 6:20 बजे ननकिती है िेककन S2 से नहीं। S1 की पहिी ड्राप N है,
जो अस्पताि से 5 ककमी पूवथ में रहती है। N को उसके पपक के 45 भमनट बाि छोड दिया जाता है। Q को S के 15
भमनट बाि पपक ककया जाता है। Q को न तो S2 द्वारा पपक ककया जाता है और न ही सुबह 8:30 बजे है। D 
अस्पताि के पक्चचम में 6 ककमी िरू रहती है और G अस्पताि के िक्षक्षण में 8 ककमी िरू रहती है। Y और S िोनों
अस्पताि से 10 ककमी की िरूी पर िेककन अिग-अिग क्षेत्रों में रहती हैं। Y और S के बीच की न्यूनतम िरूी 16 मीटर
है। G और Y एक ही क्षेत्र में रहते हैं। D और R पवभिन्न क्षते्रों में रहते हैं। R और Y अिग-अिग क्षते्र में रहते हैं। एक
मदहिा R के 7 ककमी पूवथ में रहती है। एक मदहिा N के 5 ककमी उत्तर में रहती है और N के पूवथ में कोई मदहिा नहीं
रहती है। S3 अपनी िो गिथवती मदहिाओं को 55 भमनट के अंतराि पर छोडता है। D को उसके िेने के कम से कम 40
भमनट बाि छोड दिया जाता है।



A hospital employed three ambulance services i.e. S1, S2 and S3 to drop off seven of its pregnant women i.e. Y, N, 
Q, R, S, D and G. The ambulance picks them up from the hospital and drop them off at their respective homes. The 
ambulance operates in three zones i.e. Z1, Z2 and Z3. Z1 covers the east and north east of the hospital, Z2 covers 
the west and north west of hospital and Z3 covers the south and south west of the hospital. Each ambulance drops 
off in one zone only. At least two and at most three pregnant women in each zone. The pickup and drop off time are 
among – 6:20 am, 7:15 am, 7:30 am, 8 am, 8:03 am, 8:10 am, 8:15 am, 8:30 am and 9 am. There are certain 
condition which are followed by the ambulance service provider regarding the pickup and drop off. 
Conditions:
All the women, who live in the same zone, are picked up by their respective ambulance at the same time and are 
dropped off on the basis of their distance from the hospital such that the one , who is nearest to the hospital , is 
dropped first and then others.
No two women, irrespective of their drop off point, are dropped off at same time.
The woman who leave the hospital first, leave at 6:20 am but not by S2. The first drop of S1 is N, who lives 5 km in 
east of the hospital. N is dropped off after 45 minutes of her pick up. Q is picked up 15 minutes after S. Q is neither 
picked by S2 nor picked up at 8:30 am. D lives 6 km to the west of the hospital and G lives 8 km to the south of the 
hospital. Both Y and S live at a distance of 10 km from the hospital but in different zones. The shortest distance 
between Y and S is 16 m. G and Y live in same zone. D and R live in different zones. R and Y live in different zone. 
One women lives 7 km to the east of R. One of the women lives 5 km to the north of N and no women lives to the 
east of N. S3 drops two of its pregnant women at an interval of 55 minutes. D is dropped off after at least 40 
minutes of her pick up. 



A hospital employed three ambulance services i.e. S1, S2 and S3 
to drop off seven of its pregnant women i.e. Y, N, Q, R, S, D and 
G. The ambulance picks them up from the hospital and drop 
them off at their respective homes. The ambulance operates in 
three zones i.e. Z1, Z2 and Z3. Z1 covers the east and north east 
of the hospital, Z2 covers the west and north west of hospital 
and Z3 covers the south and south west of the hospital. Each 
ambulance drops off in one zone only. At least two and at most 
three pregnant women in each zone. The pickup and drop off 
time are among – 6:20 am, 7:15 am, 7:30 am, 8 am, 8:03 am, 
8:10 am, 8:15 am, 8:30 am and 9 am. There are certain 
condition which are followed by the ambulance service 
provider regarding the pickup and drop off. 
The woman who leave the hospital first, leave at 6:20 am but 
not by S2. The first drop of S1 is N, who lives 5 km in east of the 
hospital. N is dropped off after 45 minutes of her pick up. Q is 
picked up 15 minutes after S. Q is neither picked by S2 nor 
picked up at 8:30 am. D lives 6 km to the west of the hospital 
and G lives 8 km to the south of the hospital. Both Y and S live 
at a distance of 10 km from the hospital but in different zones. 
The shortest distance between Y and S is 16 m. G and Y live in 
same zone. D and R live in different zones. R and Y live in 
different zone. One women lives 7 km to the east of R. One of 
the women lives 5 km to the north of N and no women lives to 
the east of N. S3 drops two of its pregnant women at an 
interval of 55 minutes. D is dropped off after at least 40 
minutes of her pick up. 



P से W एक तीन पीढी के पररवार के सिस्य हैं क्जसमें प्रत्येक पीढी में केवि एक जोडा
है। उनमें से प्रत्येक एक बैंक में अिग-अिग पि पर काम करते हैं यानी सीईओ,
जीएम, डीजीएम, एजीएम, मैनेजर, एएम, पीओ और तिकथ । तिकथ सबसे कननष्ठ
व्यक्तत होता है। पुरुर्ों की सखं्या मदहिाओं की तुिना में कम है। शािीशुिा जोडे
एक-िसूरे से ठीक वररष्ठ या कननष्ठ नहीं होते। S का कोई िाई-बहन नहीं है। S, V की
मााँ है, जो एक मैनेजर है। V, क्जसका केवि एक बच्चा है, उसका जीवनसार्ी है। T, जो
V से कननष्ठ है, अपने ससुर से तीन पि कननष्ठ है। V का बेटा V से ठीक वररष्ठ है।
Q, R से िो पि वररष्ठ है। R, V का पुत्र नहीं है। U, जो एक मदहिा है, W से िो पि
वररष्ठ है। P, क्जसकी एक पत्नी है, S से वररष्ठ है। S तिकथ नहीं है। जीएम की
िािी/नन्ि/सािी का एक ितीजा/िाजंा है। सीईओ िसूरी पीढी का नहीं है। जीएम
पहिी पीढी से संबंधित नहीं है।



P to W are member of a three generation family in which there is only one couple in 
each generation. Each of them work in a bank at different post i.e. CEO, GM, DGM, 
AGM, Manager, AM, PO and Clerk. The clerk is the junior most person. The number of 
males are less than that of females. The married couples are not just senior or junior 
to each other. S has no sibling. S is the mother of V, who is a Manager. V, who has only 
one child has a spouse. T, who is junior to V is three post junior to her father in law. V’s 
son is just senior to V. Q is two post senior to R. R is not the son of V. U, who is a 
female, is two post senior to W. P, who has a wife, is senior to S. S is not the clerk. GM’s 
sister in law has a nephew. The CEO does not belong to 2nd generation. The GM does 
not belong to the 1st generation.



P to W are member of a three generation family in which there is only one couple in each generation. Each 
of them work in a bank at different post i.e. CEO, GM, DGM, AGM, Manager, AM, PO and Clerk. The clerk is 
the junior most person. The number of males are less than that of females. The married couples are not just 
senior or junior to each other. S has no sibling. S is the mother of V, who is a Manager. V, who has only one 
child has a spouse. T, who is junior to V is three post junior to her father in law. V’s son is just senior to V. Q is 
two post senior to R. R is not the son of V. U, who is a female, is two post senior to W. P, who has a wife, is 
senior to S. S is not the clerk. GM’s sister in law has a nephew. The CEO does not belong to 2nd generation. 
The GM does not belong to the 1st generation.



8  ^  H  7  T  #  3  %  1  C  K  $  5  9  J  E  %  6  8  V  2  ^  W  P  *  4  B  F  ~  6  H  3  7  @  T
चरण 1: यदि तीन या तीन से अधिक संख्याएाँ आरोही क्रम में एक क्रम में हैं, तो, उन संख्याओं
में 1 की कमी की जाएगी।
चरण 2: सिी संख्याएाँ क्जनके ठीक बाि एक अक्षर आता है, उन्हें बाएाँ से िाएाँ आरोही क्रम में
सबसे बाएाँ छोर पर रिा जाएगा।
चरण 3: सिी अक्षर, क्जनके ठीक पहिे एक संख्या है, अगें्रजी वणथमािा क्रम के अनुसार सबसे
िाएाँ छोर पर रिे जाएंगे।
चरण 4 : बाएं छोर से श्रंििा के पहिे सात तत्व और अनंतम सात तत्व उिट दिए गए हैं।

ध्यान िें: चरण 3 चरण 4 के पूरा होने के बाि ककया जाता है, चरण 2 चरण 3 के पूरा होने के
बाि ककया जाता है और इसी तरह।

प्र. चरण 1 िागू करने के बाि श्रंििा के बाएं छोर से पहिी चार संख्याओं का योग तया है?



8  ^  H  7  T  #  3  %  1  C  K  $  5  9  J  E  %  6  8  V  2  ^  W  P  *  4  B  F  ~  6  H  3  7  @  T
Step 1: If three or more than three numbers are in a sequence in ascending order, then, those 
numbers will be reduced by 1.
Step 2: All the numbers which are immediately followed by a letter, will be placed at the 
extreme left end in ascending order from left to right.
Step 3: All the letters, which are immediately preceded by a number, will be placed at the 
extreme right end as per the English alphabetical order.
Step 4: The first seven elements and the last seven elements of the series from the left end are 
reversed.

Note: Step 3 is performed after the completion of step 4, step 2 is performed after the 
completion of step 3 and so on.

Q. What is the sum of the first four numbers from the left end of the series after applying step 1 
?



8  ^  H  7  T  #  3  %  1  C  K  $  5  9  J  E  %  6  8  V  2  ^  W  P  *  4  B  F  ~  6  H  3  7  @  T
Step 1: If three or more than three numbers are in a sequence in ascending order, then, those numbers will be 
reduced by 1.
Step 2: All the numbers which are immediately followed by a letter, will be placed at the extreme left end in 
ascending order from left to right.
Step 3: All the letters, which are immediately preceded by a number, will be placed at the extreme right end as per 
the English alphabetical order.
Step 4: The first seven elements and the last seven elements of the series from the left end are reversed.
Note: Step 3 is performed after the completion of step 4, step 2 is performed after the completion of step 3 and so 
on.
Q. What is the sum of the first four numbers from the left end of the series after applying step 1 ?



P से V को एक के ऊपर एक रिा गया है। सबसे ननचिे डडब्बे का क्रमांक 1 है। P को पहिे
स्र्ान पर रिा गया है। P और V के ठीक ऊपर रिे गए डडब्बे के बीच ककतने डडब्बे रिे गए हैं?
I. Q एक सम सखं्या वािा डडब्बा है। V को Q के ठीक नीचे रिा गया है। Q और S के बीच एक
डडब्बा रिा गया है। T को R के ऊपर रिा गया है। T और R के बीच कम से कम एक डडब्बा
रिा गया है, जो U के ऊपर रिा गया है।
II. U एक सम संख्या वािा डडब्बा है। U और R के बीच िो डडब्बे रिे गए हैं। Q, जो एक सम
संख्या वािा डडब्बा है, S से िो डडब्बे नीचे है। V को T के नीचे रिा गया है। T को U के बगि में
नहीं रिा गया है।
III. R, जो एक अिाज्य संख्या वािा डडब्बा है, V से िो डडब्बे ऊपर है। Q को R के ठीक नीचे रिा
गया है। Q और T के बीच िो डडब्बे रिे गए हैं।S को U के ऊपर रिा गया है। V को S के बगि में
नहीं रिा गया है।
A. केवि मैं ही ननरर्थक है
B. केवि II ननरर्थक है
C. केवि III ननरर्थक है
D. केवि II और III ननरर्थक हैं
E. इनमें से कोई नहीं



P to V are placed one above the other. The bottommost box is numbered 1. P is placed at 1st 
position. How many boxes are placed between P and the box which is placed just above V ?
I. Q is an even numbered box. V is placed just below Q. One box is placed between Q and S. T is 
placed above R. at least one box is placed between T and R, which is placed above U.
II. U is an even numbered box. Two boxes are placed between U and R. Q, which is an even 
numbered box, is two boxes below S. V is placed below T. T is not placed next to U.
III. R, which is a prime numbered box , is two boxes above V. Q is placed just below R. two boxes 
are placed between Q and T. S is placed above U. V is not placed next to S.

A. Only I is redundant
B. Only II is redundant
C. Only III is redundant
D. Only II and III are redundant
E. None of these 



P to V are placed one above the other. The bottommost box is numbered 1. P is placed at 1st position. How 
many boxes are placed between P and the box which is placed just above V ?
I. Q is an even numbered box. V is placed just below Q. One box is placed between Q and S. T is placed above 
R. at least one box is placed between T and R, which is placed above U.
II. U is an even numbered box. Two boxes are placed between U and R. Q, which is an even numbered box, is 
two boxes below S. V is placed below T. T is not placed next to U.
III. R, which is a prime numbered box , is two boxes above V. Q is placed just below R. two boxes are placed 
between Q and T. S is placed above U. V is not placed next to S.



P # Q का अर्थ है कक सिी P, Q हैं और P, Q का िाई है।
P ^ Q का अर्थ है कक कुछ P, Q हैं और P, Q की पत्नी है।
P * Q का अर्थ है कक कोई P, Q नहीं है और P, Q की मााँ है।
P $ Q का अर्थ है कक कुछ P, Q नहीं हैं और P, Q का पपता है।

कर्न :
D ^ E
D * Q
B # Q
Q ^ V

ननष्कर्थ:
I. E $ Q
II. V, D का िामाि है
III. सिी E के V होने की संिावना नहीं है।



P # Q means all P are Q and P is the brother of Q.
P ^ Q means some P are Q and P is the wife of Q.
P * Q means No P is Q and P is the mother of Q.
P $ Q means Some P are not Q and P is the father of Q.

Statements:
D ^ E
D * Q
B # Q
Q ^ V

Conclusion:
I. E $ Q
II. V is the son-in-law of D
III.  All E being V is not a possibility.



P # Q का अर्थ है कक सिी P, Q हैं और P, Q का िाई है।
P ^ Q का अर्थ है कक कुछ P, Q हैं और P, Q की पत्नी है।
P * Q का अर्थ है कक कोई P, Q नहीं है और P, Q की मााँ है।
P $ Q का अर्थ है कक कुछ P, Q नहीं हैं और P, Q का पपता है।

कर्न :
A $ B
B # C
D * C
E ^ B
F # E

ननष्कर्थ:
I. कुछ E किी िी D नहीं हो सकते
II. F, B का जीजा/सािा/िेवर है
III. यदि पुरुर्ों की संख्या मदहिाओ ंकी संख्या से अधिक है तो C, A की पुत्री है।



P # Q means all P are Q and P is the brother of Q.
P ^ Q means some P are Q and P is the wife of Q.
P * Q means No P is Q and P is the mother of Q.
P $ Q means Some P are not Q and P is the father of Q.

Statements:
A $ B
B # C
D * C
E ^ B
F # E

Conclusion:
I. Some E can never be D
II. F is the brother-in-law of B
III. C is the daughter of A if number of males more than number of females.
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